
Hr4rzcnSJrufistlwfirmtrlnnuBrafr HTAMI,IRCrroprblH
xoPooHbl AAPrbrH TyITTAAJI

M*o,01;,0,,,&o"o su,"4q YnaaH6aarap xor

a "OfloH yncbrH cyparq coflHnqoo-2018"-ngr
opofl qorL{,qon 3optayncan 6scper HaarqaM

3oxr4oH 6ahryy nax ryxail

MoHron Yncutn 3acar 3axilpraa, Hyrar 4eacrepnilH Horx, ryyHrafi y,qilpAnarbtH
ryxail xyynnilH 33 gyraap ayilnvtiaa 33.5 ,qaxs 3aaflr, Tecarailn ryxafi xyynrar7H 16
Ayraap syilnrrlH 16.5.5 Aaxb 3aanr, 41 Ayreop ayilnuitn 41.2.2 Aaxb 3aaflr,
HuftcnennilH 3acar Aapra 6ereeg YnaaH6aarap xorbrH 3axilparqilitH 2016-2020 oHur
yiln axunnaraaHbt xeren6ep, egui,|t 3acar, uui,trwuh+ 2018 oHbt 3opHnr, Hnrzcnsnvtitu
3acar EaprbtH 2018 oHur 4/669 Eyraap 3axhpaMxuilr ryc ryc yH4ocneH TYIUAAX nu:

1. Hrailcno nviitn 3acar ,qaprbrH Taursru ra3paac xran 6yp soxr4oH lailryyngar
"OfloH yncbtH cyparLr coflr4lrLloo-20'18"-Hur xeren6epr oponqor'{.qog 3opilyncaH 6ecper
HaaAMbrr 2018 oHul 07 Ayraap capbtH 2B-Hur egep "l-leqepnerr xypeeneH"-A 3oxytoH
5ailryyncyrail.

2. "OnoH yncbtH cyparq coflilaqoo-2018" xeren6epr oponqorqAog 3opilyncaH
Oecper HaaAMbtr 3oxl4oH 6ailryynaxa,q uaap4ar4ax recsilfir xaBcpaaraap latancyrafi.

3. fleepx apra xeMxoor 3oxr4oa 6ahryynaxa4 ruaap,qar,qax 600.000 /3ypraaH
3yyH tusuraH/ rerperrftr "OnoH yncbrH cyparq conilnlloo-2018" xeron6eprfrn apra
xeuxeenntZ 3apAnaac ruauafi 6afiryynnarurn HeMoflT caHxvyxh ntuila ,qaHcaH,q
luilnxyyncoH 3apAnaac rapraxbrr HFrrnaH 6oporv iI.Teren4ep/-I seeueepcyreil.

4. Teuqeennil ypugt{ilflcaH 6enrrenrilr car}rap XaHrax, 3oxt4oH 6atlryynanrurn
eH,qep xeMxeeHg eByynaxbrr Hwhtvth.r 6ueufia raMupbrH xenxnufin xonrec /A.6on,qruaa/-
r yyper 6onrocyrail.
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cypArL{ COfl rnllooHbt EScper HAAIAM

1. Yxgecxufr 5,exui,x 6apnn4aan 16 xyyxsg
Eapran,qaaxvxyffi

TypyV 1x40.000=40.000
YsVyp 1x30.000=30.000
lUeeer 2x20.OOO = 40.000

klx ueeer 4 x 10.000 = 40.000

150.000

3acyyn r.uyyrv4rarlH axnbtH xenc
x 20.000 = 80.000

2. YxAecsraI cypulH xapBaaH4 e xyyxsA
Xapeaav xyyx4yy4rarI H uta rHan

1-p 6arlp: 1 x 30000 = 30.000
2-p 6afip'.'1 x 20000 = 20.000
3-p 6arip: 2 x 10000 = 20.000

Yn4ecnrarZ cypbtH xapaaaxur uJyyrvA

1!yx x 20000 = 80 000

Mopu ypan4yynax naa4Erax ruarHan

tltarairrHqcl.rax r"rf ;3ru,iff;r1 
x 1 0' 000

u)arahuyypex rrrl;:ffff;i xJo ooo

= 10.000

= 10.000

= 10.0001-pOarZp: 1x 10.000
XenenrornoovrurH uyffi

2x20.000=40.000
Xepernex vlare


